BC Calculus – FDW 3rd Edition – Section 3.9 Even Answers

Quick Review 3.9

2. 
[image: image1.wmf]ln7

x

e

   4. 
[image: image2.wmf]ln(2)

x

-

   6. 5/4   8. 
[image: image3.wmf]ln19

ln3

2.68

x

=»

   10. 
[image: image4.wmf]ln3

ln2ln3

2.71

x

-

=»-


Section 3.9
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48. 0, x > 0   50. y = -x   52. (a) 1  (b) 39 students/day  (c) After 5 days, 50 students/day

54. (a) 
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56. Since the domain of y = ex is all reals, the range of its inverse,
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58. False, it is 2e2x   60. D   62. E   64. 
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. Therefore,

at any given value of ‘x’, these two curves have perpendicular tangent lines.

Quick Quiz – Sections 3.7 – 3.9

2. A   

4. (a) 
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  (b) y + 2 = 2(x – 1)  (c) 
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Chapter 3 – Review Exercises
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   32. All Reals   34. 
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   54. (a) continuous since the right-hand limit is also equal to f(0) = 0  (b) m must be 2 since the left-hand derivative is 2.

BC Calculus – FDW 3rd Edition – Section 3.9 Even Answers

56. (a) For all x  (b) Nowhere  (c) Nowhere

58. (a) 
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  (b) at x = 0  (c) nowhere in its domain
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64. D   66. (a) -13/10  (b) -1/3  (c) 1/10  (d) -1  (e) -2/3  (f) -12   68. 
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74. (a) 
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  (b) 40 people, $4  (c) Probably not since the charge is less for 60 people than for 40 passengers.
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 so initially one student was infected.  (b) 200  (c) After 5 days, 50 students/day
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  (d) when dy/dx = 0, only at x = 0

_1274950957.unknown

_1274954763.unknown

_1274955182.unknown

_1274955836.unknown

_1275012463.unknown

_1275013020.unknown

_1275013173.unknown

_1275013277.unknown

_1275013338.unknown

_1275013394.unknown

_1275013286.unknown

_1275013209.unknown

_1275013113.unknown

_1275012828.unknown

_1275012892.unknown

_1275012778.unknown

_1275012409.unknown

_1275012432.unknown

_1274956095.unknown

_1274955501.unknown

_1274955570.unknown

_1274955599.unknown

_1274955525.unknown

_1274955339.unknown

_1274955374.unknown

_1274955278.unknown

_1274955006.unknown

_1274955088.unknown

_1274955123.unknown

_1274955061.unknown

_1274954871.unknown

_1274954951.unknown

_1274954817.unknown

_1274954491.unknown

_1274954595.unknown

_1274954637.unknown

_1274954727.unknown

_1274954615.unknown

_1274954557.unknown

_1274954578.unknown

_1274954533.unknown

_1274954346.unknown

_1274954432.unknown

_1274954453.unknown

_1274954418.unknown

_1274951043.unknown

_1274951128.unknown

_1274951015.unknown

_1274949909.unknown

_1274950139.unknown

_1274950449.unknown

_1274950618.unknown

_1274950770.unknown

_1274950492.unknown

_1274950257.unknown

_1274950334.unknown

_1274950197.unknown

_1274950018.unknown

_1274950082.unknown

_1274950109.unknown

_1274950059.unknown

_1274949971.unknown

_1274950002.unknown

_1274949958.unknown

_1274949633.unknown

_1274949740.unknown

_1274949790.unknown

_1274949841.unknown

_1274949777.unknown

_1274949678.unknown

_1274949724.unknown

_1274949655.unknown

_1274949496.unknown

_1274949557.unknown

_1274949589.unknown

_1274949540.unknown

_1274949429.unknown

_1274949463.unknown

_1274949413.unknown

